SAP ABAP table REIS ACR ITEM L {Reporting: Accrual/Deferral Records}

TOO1
MANDT [CLNT (3)]
BUKRS [CHAR (4)]

REIS ACR ITEM L- RECNBUKRSCOLLECT TO01-BUKRS
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TACC_PRINCIPLE

MANDT [CLNT (3)]
ACC PRINCIPLE [CHAR (4)]

TACE_ACRTYPE
MANDT [CLNT (3)]
COMP [CHAR (4)]
ACRTYPE [CHAR (6)]

TCURC

MANDT [CLNT (3)]
WAERS [CUKY (5)]

TIVO3

MANDT [CLNT (3)]
SMIETR [CHAR (5)]

TIV26

MANDT [CLNT (3)]
SMVART [CHAR (4)]

TIVCNDPTYPE

MANDT [CLNT (3)]
DPTYPE [CHAR (4)]
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TIVCNNTRE
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MANDT [CLNT (3)]
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REIS ACR ITEM L-USEREXCLUSIVE = USRO2-BNAME 0.N MANDT [CLNT (3)]

BNAME [CHAR (12)]




